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Choose one of the following three subjects:

First subject:
The mathematical concepts are a priori ideas that precede sensory experience.

1- Explain this statement and state the problematic it raises.

2- Discuss this statement by showing that sensory experience is the source of (9 pts)
mathematical concepts.s
3- Do you think that mathematics has a role in the human sciences? Justify your (7 pts)
answer.
(4 pts)

Second subiject:

The conscience is a an innate and independentfaculty of themind,
whichwouldbedeveloped in us althoughweneverhadanyexperience of
anyexternalauthority.

1- Explainthisstatement of Dugald Stewart and state the problematicitraises.
2- Discuss the statement in the light of theoriesthatemphasizethat the

conscienceisacquired. (9 pts)

3- In your opinion, which one is more effective in ensuring the safety of the
society: the conscience or the law? Justifyyouranswer. (7 pts)
Third Subject: Text (4 pts)

Memory is not a faculty of arranging memories in a drawer or of recording
them in a register. There is no register, no drawer, also there is not, here, even a
faculty in the strict sense, because a faculty works intermittently when it wants to
or when it can, whereas accumulating the past over the past continues incessantly.
In reality, the past is conserved automatically. There is no doubt that it follows us
in its totality at every moment: what we felt, thought about, and what we wanted
since our early childhood is here, leaning on the present which will join it, pressing
against the door of the consciousness which wants to keep it out.The cerebral
mechanism is precisely made to drive back approximately the totality of the past
into the unconsciousness, and to include in the consciousness only what clarifies,
naturally, the present situation, to help the action set in readiness, in order to lead
finally to a useful work.

Bergson

1- Explain this text and state the problematic it raises.

2- Discuss the ideas of the text in the light of other theories about memory.

3- Is memory a function of adaptation? Justify your answer
(9 pts)
(7 pts)
(4 pts)
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